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i @ Phép cong Ién dén 100 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
78+ 17 = 41 + 67 =
37+ 15 = 62 +55=
44 + 81 = 93 +57=
68 +90 = 52426 =
91 +34 = 87 +83 =
4+80= 100 + 39 =
93+20 = 95 +53 =
46 + 19 = 2+41=
80 +92 = 49 + 65 =
14+ 14 = 60 + 58 =
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g-1olck:

Phép cong 1én dén 100 (hang ngang)

Tén:

78 + 17 =95

37+15=152

44 + 81 = 125

68 +90 = 158

91 +34 =125

4+80 = 84

93 +20=113

46 + 19 = 65

80+92=172

14+ 14 =28

41 +67 = 108

62 +55 =117

93 +57 =150

52+26="8

87+83 =170

100 + 39 = 139

95 +53 =148

2+41 =43

49+65=114

60 +58 = 118
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Ngay thang:

Piém:
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